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For the circuit as shown below, there are five elements which observe the Associated Variables 
Convention. Among the five elements, the voltages for three elements are given on the figure. The 
current for element b is ib = 2A and for element b is id = 8A. By using the KVL and KCL, please find (i) 
the current of element a, (ii) the voltage, the current and the power of element c, (iii) the voltage of 
element e. 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

ia =                        ,  
 
vc =                       , ic =                        , pc =                     . 
 
ve =                       . 


